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Fiona has a 2.5 kg bag of pasta.
She is making a pasta meal for 7 people. She takes out 200 g of pasta per person.

What mass of pasta is left in the bag? Give your answer in grams.
Show your working in the box.

Peter buys a 0.6 m long stick of rock. — “‘\

He eats half of the stick of rock.

How many em of rock does he have left? AL
Bea shares out a 0.75 litre bottle of juice equally between 3 glasses.

How many millilitres of juice does each glass contain?

Write your answer inside the glass.

The Fox family are driving 20km to go shopping.
They have driven three quarters of the total distance.
How far do they have left to drive, in metres?
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